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e. g. Where will the woman first go after work?

A. The cinema. B. The market. C. The restaurant.
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M: Are you in the end going straight to the restaurant from work tonight?

W Actually I am leaving work early because I need to do some shopping in the market.
And after that I am going to meet Anne outside the cinema. She doesn’t know where the
restaurant is. You know.
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e. g. Which apartment is the woman interested in?

A. The one-bedroom apartment. B. The two-bedroom apartment.

C. The three-bedroom apartment.
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M. Hello.

W Hello. I’m calling about the apartment you advertised in the newspaper.

M. Two-bedroom or three-bedroom?

W:No, the advertisement says one-bedroom, one bath.

M. Oh, sorry. That’s not available now.
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e. g. What are the two speakers mainly talking about?

A. Eco-tours. B. Popular sports. C. Famous countries.
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M: Welcome to our program “Eco-tour”. Today, we are honored to invite Hannah to be
our special guest. Welcome, Hannah.

W Thanks. Today I’m going to suggest some eco-tours to you.

M Okay. First, can you tell us what countries are well-known for eco-tours?

W Actually there are lots of countries. For example, Brazil, Australia and China are
some of the popular places nowadays.

M. Well, what can tourists do in these countries?

W:Quite a lot of activities. For example, we can go dolphin watching in China and river
rafting in Australia.

M: River rafting, terrific!

W:Yes, we can also go mountain climbing in Brazil or bird-watching in the USA.

M:Wow, it sounds great, Hannah. Thanks for your kind introduction.

W:You’re welcome.
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01. What does the woman mean?
A. She cannot go with the man.
B. She will work with the man.
C. She will go shopping.

02. What is the relationship between the two
speakers?
A. Uncle and niece.
B. Aunt and nephew.
C. Cousins.

03. Who is the man?
A. Tom’s boss. B. Tom’s doctor.
C. The woman’s doctor.

04. What are they talking about?
A. A new bar in the town.
B. A friend of the woman’s.
C. The plan for the weekend.

05. Why did the woman get a new job in another
country?
A. Because she hated to work with the

man here.

B. Because she didn’t like the culture here.
C. Because she wanted to experience a

new culture.
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06. Why does the man refuse to go dancing?

A. He is tired of dancing.

B. He is tired from his work.

C. He is tired with playing.
07. How do the speakers usually spend their

weekends?

A. Going to movies. B. Going dancing.

C. Going shopping.
08. What time are their friends coming?

A. Around 7 o’clock.

B. Around 8 o’clock.

C. Around 9 o’clock.
WreF 7 Beds Bk, &5 9—11 .,
09. What is the man probably?

A. A conductor.

C. An athlete.
10. What do we know about Susan?

A. She’s twenty.

B. A reporter.

B. She was the winner of last year’s London
to Brighton cycle race.
C. She’s a bus conductress.
11. When does the conversation take place?
A. A day before the race.
B. A day after the race.
C. Right after the race.
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12. What was the robber wearing?
A. A black dress. B. A red sweater.
C. Tennis shoes.

13. Who is the robber?
A. A man who robs women in the park.
B. A woman who robs men in the park.
C. A man who dresses up like a woman.

14. What can we learn from the conversation?
A. The robber is really quite harmless.
B. Such a case has never been heard before.
C. The man speaker has been robbed several

times.

Wr st 9 BOBE AL, 445 1517 i,

15. What time is it now?
A.5:00 p. m.
C.9:30 p. m.

B.4:30 p. m.
16. What are the speakers going to do when
Aunt Met arrives?

A. Give her a long party.

B. Give her a warm welcome.

C. Give her a short party.

17. How does the man suggest they spend the
next eight hours?
A. By doing nothing but wait.
B. By doing their own things.
C. By driving home and returning.
Wr st 10 Bobh g, M55 18—20 .,
18. What do Third World countries often
mistakenly decide to do?
A. To open many new factories.
B. To permit rapid industrialization.
C. To fire workers with specific skills.
19. What do the factory owners do to get
maximized profits?
A. They make full use of automation if
possible.
B. They hire as many workers as possible.
C. They train workers for specific factory
jobs.
20. Which aspect does the speaker focus on?
A. The advantages of rapid industrialization.
B. The problems of rapid industrialization.

C. The progress of rapid industrialization.
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@ About school and education 26 T2 AT 1

@ Every one must receive 9 years of compulsory

education. g N2 JUAEI LS AR .
@ Children enter primary school at the age of 7.
ZAA 7 BN
@ Some students quit school due to poverty.
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@ There is fierce competition in the college
Entrance Examination. &% 5451,

@ He majored in Computers. fth F1E B WL,

@ She is working for her double major in

English and Economics. b 1F 7 16 B 15 Al

B AL,
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01. What’s the probable relationship between
the two speakers?
A. Manager and secretary.
B. Professor and assistant.
C. Boss and salesgirl.
02. Why did the man go there late?
A. Because it was snowing.
B. Because he was ill.
C. Because it was raining.
03. What time did the second baseball game
finally start?
A. At 3:45. B At 4:45.  C. At 5:45.
04. Why won’t the woman order dessert?
A. She thinks the dessert is too expensive.
B. She doesn’t want to gain weight.
C. She is afraid of dropping the dessert
on her clothes.
05. What are they going to do first?
A. Go to the Skylight.
B. Meet outside a shop.

C. Have a get-together.
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06. When will the man come to repair the window?
A. Tomorrow morning.
B. In a while.
C. Tomorrow afternoon.
07. How much will the woman pay for the repair?
A. About $100.
B. Much more than $100.
C. $110.
08. How was the window broken this time?
A. The children kicked the ball at home.
B. The woman played volleyball at home.
C. There was a big flying stone just now.
Wr s 7 Beds Bk, M 5E 911 @,
09. When did the man begin to feel sick?
A. Yesterday afternoon.
B. Last night.
C. This morning.
10. What might cause the man’s sickness?
A. Dirty food.
B. Lack of sleep.
C. Too much alcohol.
11. Why does the woman think the matter
should be looked into?
A. It has caused great losses.
B. It frightens people greatly.
C. It has happened twice.
W5 8 BobbkL, M55 12— 14 7,
12. Where does this conversation take place?
A. In a flat building.
B. In the man’s office.

C. In the woman’s house.
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13. What is the woman looking for?
A. A two-bedroom flat.
B. A three-bedroom flat.
C. A ground-floor flat.
14. What does the woman think of the flat?
A. It is too small to live in.
B. It is too expensive to buy.
C. It is satisfying on the whole.
WP Es 9 BoA kL, M55 1517 J3L,
15. Where does this conversation take place?
A.In a restaurant.
B. At an interview.
C. At a school.
16. Why does the man want a new job?
A. He is fired.
B. He likes computer.
C. He wants more money.
17. What will probably happen to the man
next?
A. He will be turned down by the woman.
B. He will work as a computer programmer.

C. He will work as a cameraman.

Wr a5 10 Bob R, & 45 18—20 M,
18. What is the speaker mainly talking about?
A. A historic tree.
B. A well-known park.
C. A famous commander.
19. What do we know about the Washington
Elm?
A. It was less than one hundred years
old.
B. It was much older than people had
thought.
C. Washington couldn’t have commanded
under it.
20. What can we learn from what the speaker
said?
A. The Washington Elm was attacked by
insects.
B. Washington commanded the army on
his knees.
C. The Washington Elm was destroyed

before the celebration.
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@ About school and education & T2 AT 2

@1 graduated from Yale University 5 years
ago. TFLAFHT, FMIBE K7,

@1t is desirable to apply to good schools. H
T IR NI AERY o

@ Mary is in her freshman year. g K22 —
.

@ Lily is a Sophomore now. #ij#j 3 7£ K2
s

@ Mike is already a junior. #ILE & K% =

EHRT,

@ As a senior, Peter is writing his thesis. /E
HRZEWUAE 2 A AR AR IETE S Bl iR 3.

@ Mr. Green is a member of the faculty. #%
MRIEHE e R HU

@ 1n Britain, there are open universities. fE
e[ A RN KR,

@ There are many training classes and night

classes. BUFLEVIPES5HIKL .,
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01. What does the man mean?
A. He got caught in the rain.
B. He wonders if it is raining.
C. He has washed his clothes.
02. What is the woman?
A. A student.
C. A worker.
03. What happened to Mary?

B. A teacher.

A. She stole some money.
B. She lost her money.

C. She met a careless thief on the bus.
04. What is the man?
A. A salesman. B. A fisherman.

C. A repairman,
05. What can we learn from this conversation?
A. The man is able to manage.

B. Mr. Brown will ring back soon.

C. The woman didn’t answer the phone.
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06. Why does the man think it is bad to take a
taxi at first?
A. Because these suitcases are not heavy.
B. Because there are just a few suitcases.
C. Because the traffic is heavy now.
07. How far is it to get there?
A. Fifty minutes on foot.
B. Fifteen minutes on foot.
C. Fifteen minutes by taxi.
08. How do they probably go there at last?
A. By bus. B. On foot.
C. By taxi.
Wres 7 BebhRL. 125 ER 9—11
09. Where is the woman going?
A. To the store.
B. To the Boxing Center.
C. To the mall.
10. Why does the woman want to go shopping?
A. Because it’s Boxing Day.
B. Because she thinks she has no clothes
to wear.
C. Because she has nothing to do.
11. What do we know from the conversation?
A. The man won’t go shopping with the
woman,
B. The man will go shopping with the
woman,
C. The man will find another time to go

shopping.
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12. What will the woman probably do if she’s
caught in a thunderstorm?
A. Stand on the ground.
B. Put herself in water.
C. Try to find a building.

13. Where does the lightning start thousands
of fires every year?
A. In Britain.
C. In France.

14. What does the woman think of the man?
A. He is honest.
C. He is sensible.

WP e 9 Bebs okl MIZES 15—17 i,

15. When will the man go for a holiday?

B. In America.

B. He is humorous.

A. In January of next year.
B. In February of next year.
C. The day after tomorrow.

16. What can the man do in Switzerland?
A. He can enjoy the beautiful beach.
B. He can play in the snow.

C. He can kill time with his friends.
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17. Why does the man decide to go to Spain?
A.It’s a better place for a rest.
B. He prefers sunshine to snow.
C. The woman is going with him.
WrsH 10 Beb ). 2455 18—20 i,
18. What was Premier Wen chosen by 2Ist
Century?
A. Person of the Year.
B. A grandpa to the young.
C. The Best Politician in 2008.
19. What do people think of Wen?
A. He is a firm and wise politician.
B. He is a traditional Chinese politician.
C. He is a caring and considerate person.
20. Why Wen had tears in his eyes?
A. He was so touched by the workers.

B. The common people were in danger.

C. He achieved great success in the political

field.
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@ Where are you from? {3 H W JL?

@ What’s your nationality? fR2f 4 EEE?

@ What’s your motherland? #R#H E 2 L7

@ Are you a native Chinese? 2+ 4 + K
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& What’ s the population of China? o [E A

EZ NN

@ How many provinces do you have? /{11 A
Z AKX

@ What’s the capital of your country? 5 [H
ALY

@1 come from Japan. K H H A&,
@1 was born in China and brought up in the
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